Pattern - Accenture

eligibility-  

                60% agg in 5sems 

                backlog in 5th sem not allowed. 

                all branches are invited. 

               (accenture doesnt allow yr gap)  

the selection procedure is a 4tier process-- 

step1: (i) aptitude test (quant+verbal+reasoning) 

          time limit-1hr 10mins,no sectional cutoffs, no negative marking, difficulty level-easy, overall cutoff-high, sets of papers distributed-two. 

          important topics covered- venn diagrams, symbol based problems, direction problems, word meanings/opposites, prepositions, articles, comprehensions. 

          (ii)essay 

          time limit-15mins, word limit-none, topic- current affairs. 

step 2: group discussions. 

           time limit- 15mins max. , importance level- very high, topics- current affairs. 

step 3: hr interview 

           type- easy but tricky. be careful. memorise every small detail about d company said in ppt. 

step 4: technical interview 

           type- easy, a little bit tricky, try to answer smartly, topic-anything under the sun, not jst c and c++.  

  

tips--1. carry a xerox copy of 5th sem/7th sem (as applicable) mark cardt/provitional marks sheet with u. its a must. 

        2. b very thorough regarding company history, profits, revenue etc. 

        3. dress smartly, they want smart engineers.be confident. 

        4. improve upon ur english, fluency in english is a must in accenture interview. 

        5. b positive, b urself, do not bluff, do not lie, they want want honest engineers,if u r caught lying u ll b shown d door instantly. 
ACCENTURE GD ON 10th SEPTEMBER 2006

GD topics:
they were providing the topics as per our suggestions but few hr managers were providing some different one. 

1. Indian population is bane or boon.
2. pectisides of pepsi and coke
3. reservation conflict
4. can india be super power
5. ball tampering hair case
6. pink Vs blue.
 it depens on you also that what do you chose there but most of the members use to opt current topics hence it is my suggestion to all seekers that prepare hard on current topics. now pay attention on few things while gd it is imp than above things. come up with soft voice and strong points.
1. say confidently  
2. mark your fluency and pronounciation
3. speek in pleasant voice and only when find turn and for that use manner raise your hand it shows curtasy.
4. do not make fish market
5. address group rather than gd conductor
6. try to iniciate with permission and wish the group
7. pay attention in gd while discussion
8. donot cross any one
9. mind your body language you may read allan pease body lang for the same.
10.at the time of exit do not forget to wish have a nice day to gd coordinator. 

Accenture Placement Paper Held On 12th July 2006 (Interview- Technical, HR & GD)

Group Discussion:-

GD Topics were

a) Should Alcohol be banned or not?

b) IT is enabler (BOON) or not ? (my topic)

c) Is Salman Khan's Bail is Justifiable?

d) Communism & Economy Reform.

e) CPM's Role in Privatization.

f) Foreign TV channels should be banned in INDIA or not?

There are approx. of 12- 15 members in each group & particularly they check you Communication skills, Leadership Qualities etc.Basic funda is to say as much as you know about the topic but don't bluff to much, it may the resaon for your elimination.


Technical:-

1.Tell me about yourself ?

2.What is a ROM, what is contains ?

3.What SDLC model ?

4.What is advantage of using pointer?

4.What is Virtual functios?

6.What are the diffeernt management techniques?

7.What are the difference between Structure & Class?

8.What is OSI & TCP/IP layers, differentiate them?

9.What is indexing?

10.What is Normalisation? 1NF, 2NF, 3NF?

11.What is virtual pointer?

12.Have you done any project so far? (Please mention project only in you have done it properly)


 HR Section:-

1.Tell me about yourself?

2.Why would like to join ACCENTURE?

3.How can you help us?

4.Relocation for you is possible or not?

5.You are from (Physics/math/Chem) background then why did you join MCA?

6.Do you have any gap in your studies if yes state reason? 

Accenture Placement Paper (Technical Question)

1. pointer to structure.

2. static variable and difference b/w(const char *p,char const *p,const char* const p).

3. pass by value & reference.

4. string library functions(syntax). 

5. Write a program to compare two strings without using the strcmp() function. 

6. Write a program to concatenate two strings. 

7. Write a program to interchange 2 variables without using the third one. 

8. Write programs for String Reversal & Palindrome check .

9. Write a program to find the Factorial of a number. 

10. Write a program to generate the Fibinocci Series. 

Accenture IDC Recruitment Latest Paper (Technical-C)

1.Study the Following Points:
a.One Cannot Take the address of a Bit Field
b.bit fields cannot be arrayed
c.Bit-Fields are machine Dependant
d.Bit-fields cannot be declared as static
Which of the Following Statements are true w.r.t Bit-Fields
A)a,b&c B)Only a & b C)Only c D)All

2.What is the function of ceil(X) defined in math.h do?
A)It returns the value rounded down to the next lower integer
B)it returns the value rounded up to the next higher integer
C)the Next Higher Value
D)the next lower value

3.When do you say that a digraph is acyclic
A)if and only if its first search does not have back arcs
B)a digraph is acyclic if and only if its first search does not have back vertices
C)if and only if its first search does not have same dfnumber
D)None of these

4.A function ‘q’ that accepts a pointer to a character as argument and returns a pointer to an array of integer can be declared as:
A)int (*q(char*)) []
B)int *q(char*) []
C)int(*q)(char*) []
D)None of the Above

5.What kind of sorting is this:

SORT (k,n)
1.[Loop on I Index]
repeat thru step2 for i=1,2,……..n-1
2.[For each pass,get small value]
min=i;
repeat for j=i+1 to N do
{
if K[j]
min=j;
}
temp=K[i];K[i]=K[min];K[min]=temp;

3.[Sorted Values will be returned]

A)Bubble Sort
B)Quick Sort
C)Selection Sort
D)Merge Sort

6.Which of the Following is not defined in string.h?
A)strspn()
B)strerror()
C)memchr()
D)strod()

7.Identify the correct argument for the function call fflush() in ANSI C:
A)stdout
B)stdin
C)stderr
D)All the above

8.Which of the Following will define a type NODE that is a node in a Linked list?
A)struct node {NODE*next;int x;};type def struct node NODE;
B)typedef struct NODE {struct NODE *next;int x;};
C)typedef struct NODE {NODE *next;int x;};
D)typedef struct {NODE *next;int x;}NODE;

9.Which of these statements are false w.r.t File Functions?
i)fputs() ii)fdopen() iii)fgetpos() iv)ferror()

A)ii B)i,ii C)iii D)iv

10.Study the code:
void show()
main()
{
show();
}
void show (char *s)
{
printf("%sn",s);
}

What will happen if it is compiled & run on an ANSI C Compiler?
A)It will compile & nothing will be printed when it is executed
B)it will compile but not link
C)the compiler will generate an error
D)the compiler will generate a warning

11.Look at the Code:
#include
void main()
{
char s1[]="abcd";
char s2[10];
char s3[]="efgh";
int i;
clrscr();
i=strcmp(strcat(s3,ctrcpy(s2,s1))strcat(s3,"abcd"));
printf("%d",i);
}

What will be the output?
A)No output B) A Non Integer C)0 D) Garbage

12.Look at the Code:
main()
{
int a[]={1,2,3},i;
for(i=0;i<3;i++)
{
printf("%d",*a);
a++;
}
}

Which Statement is/are True w.r.t the above code?
I.Executes Successfully & Prints the contents of the array
II.Gives the Error:Lvalue Required
III.The address of the array should not be changed
IV.None of the Above.

A)Only I B)Only II C)II & III D)IV

13.what is the output?
#define fun(a,b,t) (g ##t=(a),(a)=(b),(b)=g##t)
float gfloat;
main()
{
float a=1.12,b=3.14;
fun (a,b,float);
printf("na=%4.2f,b=%4.2f",a,b);
}

A)Error in Defining Macro
B)a=1.12,b=3.14
C)a=3.14,b=1.12
D)None of teh Above

14.study the code:
#include
void main()
{
const int a=100;
int *p;
p=&a;
(*p)++;
printf("a=%dn(*p)=%dn",a,*p);
}
What is printed?

A)100,101 B)100,100 C)101,101 D)None of the above

15.Which of the following are valid “include” formats?
A)#include and #include[file.h]
B)#include (file.h) and #include
C)#include [file.h] and #include “file.h”
D)#include and #include “file.h” 

Accenture Mostly Asked Technical Questions

1. Pointer to structure.
2. Static variable and difference btw(const char *p,char const *p,const char* const p).
3 pass by value & reference.
4. String library functions (syntax).
5. Write a program to compare two strings without using the strcmp() function.
6. Write a program to concatenate two strings.
7. Write a program to interchange 2 variables without using the third one.
8. Write programs for String Reversal & Palindrome check.
9. Write a program to find the Factorial of a number.
10. Write a program to generate the Fibonacci Series.
11. Searching and sorting algorithms with complexities.
Accenture Question Paper, Programming in C (IDC Recruitment Paper)

1.Study the Following Points:

a. One Cannot Take the address of a Bit Field

b. Bit fields cannot be arrayed

c. Bit-Fields are machine Dependant

d. Bit-fields cannot be declared as static

Which of the Following Statements are true w.r.t Bit-Fields

A) a,b&c B) Only a & b C) Only c D) All

2. What is the function of ceil(X) defined in math.h do?

A) It returns the value rounded down to the next lower integer

B) it returns the value rounded up to the next higher integer

C) the Next Higher Value

D) the next lower value

3.When do you say that a digraph is acyclic

A)if and only if its first search does not have back arcs

B)a digraph is acyclic if and only if its first search does not have back vertices

C)if and only if its first search does not have same dfnumber

D)None of these

4.A function ‘q’ that accepts a pointer to a character as argument and returns a pointer to an array

of integer can be declared as:

A)int (*q(char*)) []

B)int *q(char*) []

C)int(*q)(char*) []

D)None of the Above

5. What kind of sorting is this:

SORT (k,n)

1.[Loop on I Index]

repeat thru step2 for i=1,2,……..n-1

2.[For each pass, get small value]

min=i;

repeat for j=i+1 to N do

{

if K[j]

min=j;

}

temp=K[i];K[i]=K[min];K[min]=temp;

3.[Sorted Values will be returned]

A) Bubble Sort

B) Quick Sort

C) Selection Sort

D) Merge Sort

6. Which of the Following is not defined in string.h?

A) strspn()

B) strerror()

C) memchr()

D) strod()

7. Identify the correct argument for the function call fflush() in ANSI C:

A) stdout

B) stdin

C) stderr

D) All the above

8. Which of the Following will define a type NODE that is a node in a Linked list?

A) struct node {NODE*next;int x;};type def struct node NODE;

B) typedef struct NODE {struct NODE *next;int x;};

C) typedef struct NODE {NODE *next;int x;};

D) typedef struct {NODE *next;int x;}NODE;



9. Which of these statements are false w.r.t File Functions?

i) fputs() ii) fdopen() iii) fgetpos() iv) ferror()

A) ii B) i,ii C) iii D) iv

10.Study the code:

void show()

main()

{

show();

}

void show (char *s)

{

printf("%sn",s);

}

What will happen if it is compiled & run on an ANSI C Compiler?

A) It will compile & nothing will be printed when it is executed

B) It will compile but not link

C) The compiler will generate an error

D) The compiler will generate a warning

11.Look at the Code:

#include

void main()

{

char s1[]="abcd";

char s2[10];

char s3[]="efgh";

int i;

clrscr();

i=strcmp(strcat(s3,ctrcpy(s2,s1))strcat(s3,"abcd"));

printf("%d",i);

}

What will be the output?

A) No output B) A Non Integer C) 0 D) Garbage

12.Look at the Code:

main()

{

int a[]={1,2,3},i;

for(i=0;i<3;i++)

{

printf("%d",*a);

a++;

}}

Which Statement is/are True w.r.t the above code?

I. Executes Successfully & Prints the contents of the array

II. Gives the Error: value Required

III. The address of the array should not be changed

IV. None of the above.

A) Only I B) Only II C) II & III D) IV

13. What is the output?

#define fun(a,b,t) (g ##t=(a),(a)=(b),(b)=g##t)

float gfloat;

main()

{

float a=1.12,b=3.14;

fun (a,b,float);

printf("na=%4.2f,b=%4.2f",a,b);

}

A) Error in Defining Macro

B) a=1.12, b=3.14

C) a=3.14, b=1.12

D) None of the Above

Accenture Placement Paper Pattern (Verbal And Analytical)

Section 1 - Verbal Ability 
No.of Quesrions : 20 
Durarion in Minutes: 20 
Assessments by MeritTrac Directions for Questions 1-3 : Choose the option which will correctly fill the blank. 
1) I am writing to enquire _________the possibility of hiring a conference room at the hotel on the 2nd of September. 
A) Of 
B) About 
C) Into 
D) After 

2) _________ having her lunch, she stood - the tree and waited _______ him. 
A) With, below, for 
B) After, under, for 
C) Inside, further, to 
D) About, across, into 

3) The microscopic animals are the primary food for larval cod and their decline has meant that fewer fish are making it to adulthood to be caught_________ trawlermen. 
A) In 
B) Into 
C) By 
D) With 

Directions for Questions 4-6 : Choose the word nearest in meaning to the word in ITALICS from the given options. 

4) The jacket is impervious to water. 
A) Dirty 
B) Pure 
C) Impenetrable 
D) Favorable 

5) Chandan was chagrined with the continuous disruption of the power supply to his home. 
A) Delighted 
B) Creation 
C) Peeved 
D) Security 

6) The latest ordinance issued by the government has provided the bank with two options. 
A) Decision 
B) Law 
C) Opinion 
D) Verdict 

Directions for Questions 7-10: Choose the answer option which will correctly fill the blank. 

7)_________ great writer is convinced that whatever he says is not an echo or imitation of what others have said. 
A) An 
B) The 
C)A 
D) No article required 

8) ________ Reserve Bank of India directed banks to closely watch _______spending through International Debit Cards. 
A)A,the 
B) The, the 
C) The, a 
D) -\n, the 

9) The officer received _____ official letter from _____ Ministry of IT in _____ Central Government. 
A) A, the, an 
C) An, the, the 
B) A, an, the 
D) An, an, the 

10) You CANNOT send out ______uneducated man into ______ world of technology and expect him to perform. 
A) An, an 
B) A, an 
C ) An, the 
D) The, an 

Directions for Questions 11-15: Read the passage and answer the questions that follow on the basis of the information provided in the passage. 

Microprocessor is an electronic computer Central Processing Unit (CPU) made from miniaturized transistors and other circuit elements on a single semiconductor Integrated Circuit (IC). Before the advent of microprocessors, electronic CPUs were made from individual small-scale Integrated Circuits containing the equivalent of only a few transistors. By integrating the processor onto one or a very few large-scale Integrated Circuit packages (containing the equivalent of thousands or millions of discrete transistors), the cost of processor power was greatly reduced. The evolution of microprocessors has been known to follow Moore's Law when it comes to steadily increasing performance over the years. 

This law suggests that the complexity of an Integrated Circuit with respect to minimum component cost will double in about 18 months. From humble beginnings as the drivers for calculators, the continued increase in power has led to the dominance of microprocessors over every other form of computer; every system from the largest mainframes to the smallest handheld computers now uses a microprocessor at their core. .As with many advances in technology, the microprocessor was an idea wbose time had come. Three projects arguably delivered a complete microprocessor at about the same time: Intel's 4004, Texas Instruments' TMS1000, and Garrett AiResearch's Central Air Data Computer. . A computer-on-a-chip is a variation of a microprocessor, which combines the microprocessor core (CPU), some memory, and I/O (input/output) lines, all on one chip. The proper meaning of microcomputer is a computer using a (number of) microprocessor(s) as its CPU(s), while the concept of the patent is somewhat more similar to a micro controller. 

11) Which of the following descriptions would NOT fit a microprocessor? 
A) Electronic computer 
B) Central Processing Unit 
C) Memory disk 
D) A single integrated chip circuit. 

12) Select the TRUE statement from the following. 
A) Microprocessors and computers on a chip are variations of each other. 
B) Integration of processing power on chips has made processing power cheaper. 
C) Before microprocessors, CPUs were not made from individual small scale ICs. 
D) A microprocessor circuit only has transistors in it. 

13) Which of the following was NOT the first to develop a microprocessor? 
A) Microsoft 
B) Intel 
C) Texas Instruments 
D) Garret 

14) According to the passage, which of these is NOT a use of microprocessors? 
A) Drivers for calculators 
B) Core for large mainframes 
C) Advanced mobile phones 
D) Used for small handheld computers 

15) "A number of microprocessors at its CPU" is an apt description of a: 
A) 11icro-controller 
B) Micro-computer 
C) Micro-processor 
D) Micro-transistor 

Directions for Questions 16-20: Read the passage and answer the questions that follow on the basis of the information provided in the passage. 

Dynamic Link Libraries Windows provides several files called dynamic link libraries (DLLs) that contain collections of software code that perform common functions such as opening or saving a file. When Windows application wants to use one of those functions or routines, the app sends a message to Windows with the names of the DLL file and the function. This procedure is known as calling a function. One of the most frequently used DLLs is Windows COMMDLG.DLL, which includes among others, the functions to display File Open, File Save, Search, and Print dialog boxes. The application also sends any information the DLL function will need to complete the operation. For example, a program calling the Open File function in COMMDLG.DLL would pass along a file spec, such as *. * or *.DOC, to be displayed in the dialog box's Filename text box.

The application also passes along a specification for the type of information it expects the DLL to return to the application when the DLL's work is done. The application, for example, may expect return information in the form of integers, true/false values, or text. Windows passes the responsibility for program execution to the DLL, along with the parameters and the return information the DLL will need. The specific DLL is loaded into memory, and then executed by the processor. At this point the DLL, rather than the application, runs things. The DLL performs all the operations necessary to communicate with Windows and, through Windows, with the PC's hardware. After the DLL function is complete, the DLL puts the return information into memory, where it can be found by the application, and instructs Windows to remove the DLL routine from memory. The application inspects the return information, which usually tells whether the DLL function was able to execute correctly. If the operation was a success, the application continues from where it left off before issuing the function call. If the operation failed, the application displays an error message. 

16) By using DLLs, Windows: 
A) Saves processing time 
B) Multitasks 
C) Shares program code 
D) Communicates with PCs hardware

17) To use any routine of a DLL, Windows: 
A) Searches and copies it in the application code and executes it 
B) Loads the DLL file and searches and executes the routine 
C) Loads just the required routine in memory and executes it 
D) Searches the location of the routine and instructs the application to execute it 

18) Which information does an application need to passto Windows to use a DLL routine? 
A) Just the name of the routine 
B) Just the name of the DLL, which finds in turn the routine to be executed in return 
C) Both the name of the routine as well as DLL and any parameters 
D) Name of the DLL, routine, any parameters and type of information to be returned 

19) According to the passage, while the DLL routine is executing, the calling application: 
A) Waits for the routine to execute 
B) Continues with other tasks 
C) Helps the DLL routine perform by communicating with Windows and through Windows with the PC's hardware 
D) Passes all responsibility of program execution to the DLL and is removed from memory 

20) The DLL function after execution returns: 
A) The parameters and information into memory, where it can be inspected by the calling application 
B) Information into memory, where it can be inspected by the calling application 
C) To the calling application the information required by it so that it can inspect it 
D) The information required into memory so that DLL can inspect whether the function operation was a success 

Section 2 -Analytical Ability 
No. of Questions: 20 
Duration in Minutes: 20 
21) 70 students are required to paint a picture. 52 use green color and some children use red, 38 students use both the colors. How many students use red color?
A) 24 
B) 42 
C) 56 
D)70 

22) At an international conference, 100 delegates spoke English, 40 spoke French, and 20 spoke both English and French. How many delegates could speak at least one of these two languages? 
A) 110 
B) 100 
C) 140 
D) 120 

23) A group of 50 students were required to clear 2 tasks, one in rock-climbing and the other in bridge crossing during an adventure sports expedition. 30 students cleared both the tasks. 37 cleared bridge crossing, 38 students cleared rockclimbing. How many students could not clear any task? 
A)0 
B)3 
C)5 
D) 9 

24) A dance instructor conducts annual workshops in which he holds sessions for basic learners and trainers. In a particular year, 2000 people attended the workshop. 1500 participated as learners and 800 as trainers. How many participated as only trainers? 
A) 200 
B) 500 
C) 800 
D) 1500 

25) In a group of 400 readers who read science fiction or literacy works or both, 250 read science fiction and 230 read literacy works. How many read both science fiction and literacy works? 
A) 80 
B) 160 
C) 220 
D) 400 

26) A man said to a lady, "Your mother's husband's sister is my aunt". How is the lady related to the man? 
A) Daughter 
B) Grand daughter 
C) Mother 
D) Sister 

27) A man is facing west. He turns 45degree in the clockwise direction and then another 180 degree in the same direction and then 270 degree in the anticlockwise direction. Which direction is he facing now? 
A) South 
B) North-West 
C) West 
D) South-West 

28) In a row of 60, if Ram is standing at 17th from the first, what is his position from the last? 
A) 25 
B) 43 
C)44 
D) 45 

29) A man is facing northwest. He turns 90 degrees in the clockwise direction and then 135degrees in the anti-clockwise direction. Which direction is he facing now? 
A) East 
B) West 
C) North 
D) South 

30) What three letter word best completes the below words? VA - __E S___TER - - _ER 
A) STR 
B)TER 
C) CAT 
D) \\FAT 

Directions for Questions 31-35: In the following questions mark: 1, if the question can be answered with the help of statement I alone. 2, if the question can be answered with the help of statement II alone. 3, if the question can be answered with the help of both I and II. 4, if the question cannot be answered at all. 

31) What is the value of P? I. P and Q are integers II. PQ = 10, P + Q =5 
A)l 
B)2 
C)3 
D)4 

32) Who got the highest score in the Mathematics examination, among Sumit, Amit and Namit. No two students got the same marks. I. Sumit got more marks than Namit. II. Amit did not get lesser marks than Sumit, who did not get lesser marks than Namit. 
A)l 
B)2 
C)3 
D)4 

33) How many hours does it take some boys and girls in a camp to put up the tent? I. There are 4 boys and 7 girls. II. A girl can put up the tent in 5 hours and a boy can put up the tent in 3 hours. 
A)l 
B)2 
C)3 
D)4 

34) If p, q, r, s and t are in an Arithmetic Progression, is r the largest among them? I.t>O II. p, q < 0 
A)l 
B)2 
C)3 
D)4 

35) Is X a whole number, if X > O? I. 2X is an even number. II. 3X is an odd number. 
A)l 
B)2 
C)3 
D)4 

Directions for Questions 36-40: In a certain code, the symbol for 0 (zero) is. * and that for 1 is $. The numb.:rs greater than 1 are to be written only by using the two symbols given above. The value of the symbol for 1 doubles itself every time it shifts one place to the left. (For example, 4 is written as $**; and; 3 is written as $$) 

36) 11x 17 / 10 + 2 x 5 + 3 / 10 can also be represented as: 
A) $*$$* 
B) $*$$$ 
C) $$$*$ 
D) $**$$ 

37) 260 can be represented as: 
A) $****$** 
B) $$*$$$$$ 
C) $$*$$$$** 
D) $*****$** 

38) 60 / 17 can also be represented as: 
A) $$$*$*** / $$**$$ 
B) $$$***** / $$**$$ 
C) $*$$*$** / $$**$$ 
D) $$*$*$** / $$**$$ 

39) $***$ can be represented as: 
A) $$$ / $* B) $*$**- $$ 
C) $*$*$- $$ 
D) $$$***$ - $$ 

40) 30^2 can be represented as: 
A) ($$*$$ ) $*+ $*$*$$*$ 
B) ($$*$$ ) $* + $$****$ 
C) ( $$*$$ ) $$ + $*$**** 
D) ( $$*$$ ) $$ + $*$**$ 

Section 3
Attention To Detail 
No. of Questions: 11 
Duration in Minutes: 11 
Directions for Questions 41-48: Follow the directions given below to answer the questions that follow. Your answer for each question below would be: A, if ALL THREE items given in the question are exactly ALIKE. B, if only the FIRST and SECOND items are exactly ALIKE. C, if only the FIRST and THIRD items are exactly ALIKE. D, if only the SECOND and THIRD items are exactly ALIKE. E, if ALL THREE items are DIFFERENT. 

41)LLMLLLKLMPUU, LLMLLLKLMPUU, LLMLLLKLMPUU 
A) A 
B)B 
C)C 
D)D 
E)E 

42) 0452-9858762, 0452-9858762, 0452-9858762 
A) A 
B)B 
C)C 
D)D 
E)E 

43) NIINIININN, NIININNINN ,NIINIININN 
A) A 
B)B 
C)C 
D)D 
E)E 

44) 4665.8009291, 4665.7999291, 4665.8009291 
A) A 
B) B
C)C
D)D
E)E 

45)808088080.8080, 808008080.8080, 808088080.8080 
A) A 
B)B 
C)C 
D)D 
E)E 

46) If* standsfor /, / stands for -,+ stands for * and -stands for +, then 9/8*7+5-10=? 
A) 13.3 
B) 10.8 
C) 10.7 
D) 11.4 

47) If* stands for /, / stands for -,+ stands for * and -stands for +, then 9/15*9+2-9=? 
A) 14.7 
B) 15.3 
C) 14.1 
D) 16.2 

48) If * stands for /, / stands for -, + stands for * and - stands for +, then which of the following is TRUE? 
A) 36/12*4+50-8 =-106 
B) 12*8/4+50-8 =45.5 
C) 36*4/12+36-8 = 4.7 
D) 8*36/4+50-8 = 300 

Set: 3648(A) ver-Z.O For: Aecenture IDC 

Directions for Questions 49-51: In the following questions, the following letters indicate mathematical operations as indicated below: A: Addition V: Equal to S: Subtraction W: Greater than M: Multiplication X: Less than D: Division Out of the four alternatives given in these questions, only one is coccect according to the above letter symbols. Identify the coccect one. 

49) See the options given below 
A) 6 S 7 A 2 M 3 W 0 D 7 
B) 6 A 7 S 2 M 3 W 0 A 7 
C) 6 S 7 M 2 S 3 W 0 M 7 
D) 6 M 7 S 2 A 3 X 0 D 7 

50) If * stands for -,/ stands for +, + stands for / and -stands for *, then which of the following is TRUE? 
A) 16/8*6+90-12 =23.2 
B) 8*12/6+90-12 =7.2 
C) 16*6/8+16-12 =-4.1 
D) 12*16/6+90-12 =8 

51) If * stands for -,/ stands for +, + stands for / and -stands for * , then which of the following is TRUE? 
A) 16*4/18+16-8 = -10.1 
B) 18*8/4+40-8 =-2.8 
C) 16/18*4+40-8 =33.2 
D) 8*16/4+40-8 =-2 

Directions for Questions 52-55: For the post of a manager of a leading call centre -Arkade Inc. - situated in Ludhiana, the following are the criteria the candidate must satisfy: - The candidate should have a Management Degree. - The candidate should have at least 4 years of similar experience at-another call center. - The candidate should be more than 30 years of age as on the 1st of July 2003. - The candidate should have 6 months of international exposure, i.e. should have been posted in a foreign country. If a candidate does not satisfy the 1st condition but has more than 2 years of international experience, then the VP operations, will interview him. If a candidate does not satisfy the 4th condition, then the HR manager will interview him. 

52) Shakuntala was selected for a managerial position in an international call center after she passed out from AIM Management Institute. After working for 3 years in the call center, she took a sabbatical. She is 29 years of age as on the date of application. She will be: 
A) Interviewed only by the HR 
B) Interviewed only by the VP 
C) Rejected 
D) Data insufficient 

53) Rajiv has been working as a Manager in Zephyr Inc. for 4 years now. He is an Engineering graduate from a premier engineering institute. His certificate lists his date of birth as 17/12/1974. He has worked in the hotel industry at the executive level. He is: 
A) Give an aptitude test 
B) Interviewed by the VP 
C) Data insufficient 
D) Not considered 

54) Soma has 2 years of experience in Welsh Inc. and 2 years of experience in Franc Inc., both leading call centers, as a manager. She has a management degree from a premier management organization. She turned 30 this December (2002). She is a B.Com Graduate from St. Xavier's, Calcutta. If she applies for the post, she will: 
A) Be interviewed directly by the VP Operations 
B) Not be considered 
C) Be interviewed by the HR 
D) Have to give an aptitude test 

55) Salina has over 4 years of experience in Care Touch, a leading call center, as a manager. She completed her MBA from Ranchi and worked in Singapore for UNO for 2 years before joining Care Touch. She will be: 
A) Recruited 
B) Rejected 
C) Interviewed by dIe VP Operations 
D) Data insufficient
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Section 1 - Verbal Ability No.of Quesrions : 
20 Durarion in Minutes: 20 
Assessments by MeritTrac 
Directions for Questions 1-3: Choose the option which will correctly fill the blank. 
1) I am writing to enquire _________the possibility of hiring a conference room at the hotel on the 2nd of September. 
A) Of 
B) About 
C) Into 
D) After 

2) _________ having her lunch, she stood - the tree and waited _______ him. 
A) With, below, for 
B) After, under, for 
C) Inside, further, to 
D) About, across, into 

3) The microscopic animals are the primary food for larval cod and their decline has meant that fewer fish are making it to adulthood to be caught_________ trawlermen. 
A) In 
B) Into 
C) By 
D) With 

Directions for Questions 4-6: Choose the word nearest in meaning to the word in ITALICS from the given options. 

4) The jacket is impervious to water. 
A) Dirty 
B) Pure 
C) Impenetrable 
D) Favorable 

5) Chandan was chagrined with the continuous disruption of the power supply to his home. 
A) Delighted 
B) Creation 
C) Peeved 
D) Security 

6) The latest ordinance issued by the government has provided the bank with two options. 
A) Decision 
B) Law 
C) Opinion 
D) Verdict 

Directions for Questions 7-10: Choose the answer option which will correctly fill the blank. 
7)_________ great writer is convinced that whatever he says is not an echo or imitation of what others have said. 
A) An 
B) The 
C)A 
D) No article required 

8) ________ Reserve Bank of India directed banks to closely watch _______spending through International Debit Cards. 
A)A,the 
B) The, the 
C) The, a 
D) -\n, the 

9) The officer received _____ official letter from _____ Ministry of IT in _____ Central Government. 
A) A, the, an 
C) An, the, the 
B) A, an, the 
D) An, an, the 

10) You CANNOT send out ______uneducated man into ______ world of technology and expect him to perform. 
A) An, an 
B) A, an 
C ) An, the 
D) The, an 

Directions for Questions 11-15: Read the passage and answer the questions that follow on the basis of the information provided in the passage. Microprocessor is an electronic computer Central Processing Unit (CPU) made from miniaturized transistors and other circuit elements on a single semiconductor Integrated Circuit (IC). Before the advent of microprocessors, electronic CPUs were made from individual small-scale Integrated Circuits containing the equivalent of only a few transistors. 

By integrating the processor onto one or a very few large-scale Integrated Circuit packages (containing the equivalent of thousands or millions of discrete transistors), the cost of processor power was greatly reduced. The evolution of microprocessors has been known to follow Moore's Law when it comes to steadily increasing performance over the years. 

This law suggests that the complexity of an Integrated Circuit with respect to minimum component cost will double in about 18 months. From humble beginnings as the drivers for calculators, the continued increase in power has led to the dominance of microprocessors over every other form of computer; every system from the largest mainframes to the smallest handheld computers now uses a microprocessor at their core. .As with many advances in technology, the microprocessor was an idea wbose time had come. Three projects arguably delivered a complete microprocessor at about the same time: Intel's 4004, Texas Instruments' TMS1000, and Garrett AiResearch's Central Air Data Computer. . 

A computer-on-a-chip is a variation of a microprocessor, which combines the microprocessor core (CPU), some memory, and I/O (input/output) lines, all on one chip. The proper meaning of microcomputer is a computer using a (number of) microprocessor(s) as its CPU(s), while the concept of the patent is somewhat more similar to a micro controller. 

11) Which of the following descriptions would NOT fit a microprocessor? A) Electronic computer B) Central Processing Unit C) Memory disk D) A single integrated chip circuit. 
12) Select the TRUE statement from the following. 
A) Microprocessors and computers on a chip are variations of each other. 
B) Integration of processing power on chips has made processing power cheaper. 
C) Before microprocessors, CPUs were not made from individual small scale ICs. 
D) A microprocessor circuit only has transistors in it. 

13) Which of the following was NOT the first to develop a microprocessor? 
A) Microsoft 
B) Intel 
C) Texas Instruments 
D) Garret 

14) According to the passage, which of these is NOT a use of microprocessors? 
A) Drivers for calculators 
B) Core for large mainframes 
C) Advanced mobile phones 
D) Used for small handheld computers 

15) "A number of microprocessors at its CPU" is an apt description of a: 
A) 11icro-controller 
B) Micro-computer 
C) Micro-processor 
D) Micro-transistor 

Directions for Questions 16-20: Read the passage and answer the questions that follow on the basis of the information provided in the passage. Dynamic Link Libraries Windows provides several files called dynamic link libraries (DLLs) that contain collections of software code that perform common functions such as opening or saving a file. When Windows application wants to use one of those functions or routines, the app sends a message to Windows with the names of the DLL file and the function. This procedure is known as calling a function. One of the most frequently used DLLs is Windows COMMDLG.DLL, which includes among others, the functions to display File Open, File Save, Search, and Print dialog boxes. 

The application also sends any information the DLL function will need to complete the operation. For example, a program calling the Open File function in COMMDLG.DLL would pass along a file spec, such as *. * or *.DOC, to be displayed in the dialog box's Filename text box. The application also passes along a specification for the type of information it expects the DLL to return to the application when the DLL's work is done. The application, for example, may expect return information in the form of integers, true/false values, or text. Windows passes the responsibility for program execution to the DLL, along with the parameters and the return information the DLL will need. The specific DLL is loaded into memory, and then executed by the processor. At this point the DLL, rather than the application, runs things. The DLL performs all the operations necessary to communicate with Windows and, through Windows, with the PC's hardware. After the DLL function is complete, the DLL puts the return information into memory, where it can be found by the application, and instructs Windows to remove the DLL routine from memory. The application inspects the return information, which usually tells whether the DLL function was able to execute correctly. If the operation was a success, the application continues from where it left off before issuing the function call. If the operation failed, the application displays an error message. 

16) By using DLLs, Windows: 
A) Saves processing time 
B) Multitasks 
C) Shares program code 
D) Communicates with PCs hardware 

17) To use any routine of a DLL, Windows: 
A) Searches and copies it in the application code and executes it 
B) Loads the DLL file and searches and executes the routine 
C) Loads just the required routine in memory and executes it 
D) Searches the location of the routine and instructs the application to execute it 

18) Which information does an application need to passto Windows to use a DLL routine? 
A) Just the name of the routine 
B) Just the name of the DLL, which finds in turn the routine to be executed in return 
C) Both the name of the routine as well as DLL and any parameters 
D) Name of the DLL, routine, any parameters and type of information to be returned 

19) According to the passage, while the DLL routine is executing, the calling application: 
A) Waits for the routine to execute 
B) Continues with other tasks 
C) Helps the DLL routine perform by communicating with Windows and through Windows with the PC's hardware 
D) Passes all responsibility of program execution to the DLL and is removed from memory 

20) The DLL function after execution returns: 
A) The parameters and information into memory, where it can be inspected by the calling application 
B) Information into memory, where it can be inspected by the calling application 
C) To the calling application the information required by it so that it can inspect it 
D) The information required into memory so that DLL can inspect whether the function operation was a success 

Section 2 -Analytical Ability No. of Questions: 20 
Duration in Minutes: 20 
21) 70 students are required to paint a picture. 52 use green color and some children use red, 38 students use both the colors.  How many students use red color? A) 24         B) 42         C) 56         D)70 

22) At an international conference, 100 delegates spoke English, 40 spoke French, and 20 spoke both English and French. How many delegates could speak at least one of these two languages? 
A) 110         B) 100         C) 140         D) 120     

23) A group of 50 students were required to clear 2 tasks, one in rock-climbing and the other in bridge crossing during an adventure sports expedition. 30 students cleared both the tasks. 37 cleared bridge crossing, 38 students cleared rockclimbing. How many students could not clear any task? 
A)0         B)3         C)5         D) 9 

24) A dance instructor conducts annual workshops in which he holds sessions for basic learners and trainers. In a particular year, 2000 people attended the workshop. 1500 participated as learners and 800 as trainers. How many participated as only trainers? 
A) 200 
B) 500 
C) 800 
D) 1500 

25) In a group of 400 readers who read science fiction or literacy works or both, 250 read science fiction and 230 read literacy works. How many read both science fiction and literacy works? 
A) 80         B) 160         C) 220         D) 400 

26) A man said to a lady, "Your mother's husband's sister is my aunt". How is the lady related to the man? 
A) Daughter 
B) Grand daughter 
C) Mother 
D) Sister 

27) A man is facing west. He turns 45degree in the clockwise direction and then another 180 degree in the same direction and then 270 degree in the anticlockwise direction. Which direction is he facing now? 
A) South         B) North-West         C) West         D) South-West 

28) In a row of 60, if Ram is standing at 17th from the first, what is his position from the last? 
A) 25         B) 43         C)44         D) 45 

29) A man is facing northwest. He turns 90 degrees in the clockwise direction and then 135degrees in the anti-clockwise direction. Which direction is he facing now? 
A) East         B) West         C) North         D) South 

30) What three letter word best completes the below words? VA - __E S___TER - - _ER 
A) STR             B)TER             C) CAT             D) \\fAT 

Directions for Questions 31-35: In the following questions mark: 1, if the question can be answered with the help of statement I alone. 2, if the question can be answered with the help of statement II alone. 3, if the question can be answered with the help of both I and II. 4, if the question cannot be answered at all. 

31) What is the value of P? I. P and Q are integers II. PQ = 10, P + Q =5 
A)l         B)2         C)3         D)4 

32) Who got the highest score in the Mathematics examination, among Sumit, Amit and Namit. No two students got the same marks. I. Sumit got more marks than Namit. II. Amit did not get lesser marks than Sumit, who did not get lesser marks than Namit. 
A)l         B)2         C)3         D)4 

33) How many hours does it take some boys and girls in a camp to put up the tent? I. There are 4 boys and 7 girls. II. A girl can put up the tent in 5 hours and a boy can put up the tent in 3 hours. 
A)l         B)2         C)3         D)4         

34) If p, q, r, s and t are in an Arithmetic Progression, is r the largest among them? I.t>O II. p, q < 0 
A)l         B)2         C)3         D)4 

35) Is X a whole number, if X > O? I. 2X is an even number. II. 3X is an odd number.
A)l         B)2         C)3         D)4 

Directions for Questions 36-40: In a certain code, the symbol for 0 (zero) is. * and that for 1 is $. The numb.:rs greater than 1 are to be written only by using the two symbols given above. The value of the symbol for 1 doubles itself every time it shifts one place to the left. (For example, 4 is written as $**; and; 3 is written as $$) 36) 11x 17 / 10 + 2 x 5 + 3 / 10 can also be represented as: A) $*$$* B) $*$$$ C) $$$*$ D) $**$$ 37) 260 can be represented as: A) $****$** B) $$*$$$$$ C) $$*$$$$** D) $*****$** 38) 60 / 17 can also be represented as: A) $$$*$*** / $$**$$ B) $$$***** / $$**$$ C) $*$$*$** / $$**$$ D) $$*$*$** / $$**$$ 39) $***$ can be represented as: A) $$$ / $* B) $*$**- $$ C) $*$*$- $$ D) $$$***$ - $$ 40) 30^2 can be represented as: A) ($$*$$ ) $*+ $*$*$$*$ B) ($$*$$ ) $* + $$****$ C) ( $$*$$ ) $$ + $*$**** D) ( $$*$$ ) $$ + $*$**$ 

Section 3 - Attention To Detail 
No. of Questions: 11 
Duration in Minutes: 11 
Directions for Questions 41-48: Follow the directions given below to answer the questions that follow. Your answer for each question below would be: A, if ALL THREE items given in the question are exactly ALIKE. B, if only the FIRST and SECOND items are exactly ALIKE. C, if only the FIRST and THIRD items are exactly ALIKE. D, if only the SECOND and THIRD items are exactly ALIKE. E, if ALL THREE items are DIFFERENT. 

41)LLMLLLKLMPUU, LLMLLLKLMPUU, LLMLLLKLMPUU 
A) A         B)B         C)C         D)D         E)E 

42) 0452-9858762, 0452-9858762, 0452-9858762 
A) A         B)B         C)C         D)D         E)E 

43) NIINIININN, NIININNINN ,NIINIININN 
A) A         B)B         C)C         D)D         E)E 

44) 4665.8009291, 4665.7999291, 4665.8009291 
A) A         B) B .         C)C             D)D             E)E 

45)808088080.8080, 808008080.8080, 808088080.8080 
A) A         B)B         C)C         D)D         E)E 

46) If* standsfor /, / stands for -,+ stands for * and -stands for +, then 9/8*7+5-10=? 
A) 13.3 
B) 10.8 
C) 10.7 
D) 11.4 

47) If* stands for /, / stands for -,+ stands for * and -stands for +, then 9/15*9+2-9=? 
A) 14.7 
B) 15.3 
C) 14.1 
D) 16.2 

48) If * stands for /, / stands for -, + stands for * and - stands for +, then which of the following is TRUE? 
A) 36/12*4+50-8 =-106 
B) 12*8/4+50-8 =45.5 
C) 36*4/12+36-8 = 4.7 
D) 8*36/4+50-8 = 300 
Set: 3648 (A) ver-Z.O For: Aecenture IDC 

Directions for Questions 49-51: In the following questions, the following letters indicate mathematical operations as indicated below: 
A: Addition 
V: Equal to 
S: Subtraction 
W: Greater than 
M: Multiplication 
X: Less than 
D: Division Out of the four alternatives given in these questions, only one is coccect according to the above letter symbols. Identify the coccect one. 

49) See the options given below 
A) 6 S 7 A 2 M 3 W 0 D 7 
B) 6 A 7 S 2 M 3 W 0 A 7 
C) 6 S 7 M 2 S 3 W 0 M 7 
D) 6 M 7 S 2 A 3 X 0 D 7 50) 
If * stands for -,/ stands for +, + stands for / and -stands for *, then which of the following is TRUE? A) 16/8*6+90-12 =23.2 B) 8*12/6+90-12 =7.2 C) 16*6/8+16-12 =-4.1 D) 12*16/6+90-12 =8 51) If * stands for -,/ stands for +, + stands for / and -stands for * , then which of the following is TRUE? A) 16*4/18+16-8 = -10.1 B) 18*8/4+40-8 =-2.8 C) 16/18*4+40-8 =33.2 D) 8*16/4+40-8 =-2 

Directions for Questions 52-55:For the post of a manager of a leading call centre -Arkade Inc. - situated in Ludhiana, the following are the criteria the candidate must satisfy: - The candidate should have a Management Degree. - The candidate should have at least 4 years of similar experience at-another call center. - The candidate should be more than 30 years of age as on the 1st of July 2003. - The candidate should have 6 months of international exposure, i.e. should have been posted in a foreign country. If a candidate does not satisfy the 1st condition but has more than 2 years of international experience, then the VP operations, will interview him. If a candidate does not satisfy the 4th condition, then the HR manager will interview him. 

52) Shakuntala was selected for a managerial position in an international call center after she passed out from AIM Management Institute. After working for 3 years in the call center, she took a sabbatical. She is 29 years of age as on the date of application. She will be: 
A) Interviewed only by the HR 
B) Interviewed only by the VP 
C) Rejected 
D) Data insufficient 

53) Rajiv has been working as a Manager in Zephyr Inc. for 4 years now. He is an Engineering graduate from a premier engineering institute. His certificate lists his date of birth as 17/12/1974. He has worked in the hotel industry at the executive level. He is: 
A) Give an aptitude test 
B) Interviewed by the VP 
C) Data insufficient 
D) Not considered 

54) Soma has 2 years of experience in Welsh Inc. and 2 years of experience in Franc Inc., both leading call centers, as a manager. She has a management degree from a premier management organization. She turned 30 this December (2002). She is a B.Com Graduate from St. Xavier's, Calcutta. If she applies for the post, she will: 
A) Be interviewed directly by the VP Operations 
B) Not be considered 
C) Be interviewed by the HR 
D) Have to give an aptitude test 

55) Salina has over 4 years of experience in Care Touch, a leading call center, as a manager. She completed her MBA from Ranchi and worked in Singapore for UNO for 2 years before joining Care Touch. She will be: 
A) Recruited 
B) Rejected 
C) Interviewed by dIe VP Operations 
D) Data insufficient

Most Important Verbal Question (English)

SYNONYMS ASKED IN TCS N KANBAY TILL NOW
Admonish= usurp

Adhesive = tenacious, sticky, glue, gum, bonding agent

Alienate = estrange

Bileaf = big screen, big shot, big success

Belief = conviction

Baffle = puzzle

Brim = edge

Covet = to desire

Caprice = whim

Concur = similar, acquiesce

Confiscate = appropriate, to take charge, to annex

Cargo = load, luggage

Dispel = scatter

Divulge = reveal, make known, disclose

Discretion = prudence

Emancipate = liberate

Efface = obliterate

Embrace = hug, hold, cuddle

Furtive = stealthy

Heap = to gather

Hamper = obstruct

Heap = to pile

Hover = linger

Incentive = spur

Instigate = incite

Inert = passive

Latitude = scope

Lethargy = stupor

Lamont = lakes, lamentable

Lament = wail

Latent = potential

Merry = Enjoy

Meager = small, little, scanty

Misery = distress

Momentary = for small time

Merit = to deserve

Miserable = unhappy, sad

Obstinate = stubborn

Overt = obvious, clear, explicit, evident

Pretentious = ostentatious

Potential = ability

Rinaile = rigorous

Renounce= reject

Solicit = Humble, urge

Subside = wane

Stifle = snits

Tranquil = calm, silent, serene

To merit- to deserve

Volume = quantity

Veer = diverge

Wethargy = well wisher

 
SYNONYMS ASKED IN WIPRO  N  POLARIS  N  SATYAM :
1] Depreciation = deflation,depression,devaluation,fall,slump
2] Depricate = feel and express disapproval
3] Incentive = thing one encourages one to do
4] Echelon = level of authority or responsibility
5] Innovation = make changes or introduce new things
6] Intermittant = externally stopping and then starting
7] Detrimental = harmful
8] Mesotiate = ...
9] Conciliation = make less angry or more friendly
10] Orthodox = conventional or superstitious
11] Fallible = liable to err
12] Volatile = ever changing
13] Manifestion = clear or obvious
14] Connotation =
15] Reciprocal = reverse, opposite
16] Agrarian = related to agriculture
17] Vacillate = undecided or dilemma
18] Experdent = fitting proper , desirable
19] Simulate = produce artificially resembling an existing one
20] Access = to approach
21] Compensation= salary
22] Truncate = shorten by cutting
23] Adherance = stick
24] Heterogenous = non-similar things
25] Surplus = excessive
26] Assess = determine the amount or value
27] Cognezance = knowledge
28] Retrospective = review
29] Naive = innocent , rustic
30] Equivocate = tallying on both sides
31] Postulate = frame a theory
32] Latent = dormant,secret
33] Fluctuate = wavering
34] Eliminate = to reduce
35] Affinity = strong liking
36] Expidite = hasten
37] Console = to show sympathy
38] Adversary = opposition
39] Affable = lovable,approchable
40] Decomposable = rotten
41] Agregious = apart from crowd,especially bad
42] Conglomeration = group
43] Aberration = deviation
44] Erudite = wise, profound
45] Augury = prediction
46] Credibility = ability to common belief,quality of being credible

 

SYNONYMS ASKED IN HUGHES  N   ACCENTURE  N  MBT  N  INAUTICS :
admonish = usurp (reprove)                            merry = gay

alienate = estrange (isolate)                            instigate = incite

dispel = dissipate (dismiss)                           belief = conviction        

covet= crave (desire)                                     belated = too late         

solicit = beseech (seek)                                brim = border

subside = wane (drop)                                   renounce= reject

hover = linger (stay close)                              divulge = reveal

heap = to pile (collect)                                   adhesive = tenacious

veer = diverge (turn)                                       hamper = obstruct

caprice = whim (impulse)                               to merit= to deserve

stifle = suffocate (smother)                             inert = passive        

latent = potential (inactive)                             latitude = scope

concur = acquiesce (accept)                          momentary = transient

tranquil = serene (calm)                                 admonish = cautious

lethargy = stupor (lazy)                                  volume = quantity        

furtive= stealthy (secret)                                 meager = scanty

cargo = freight(load)                                       baffle = frustrate

efface = obliterate(wipe out)                            misery = distress          

pretentious = ostentatious(affected)                  discretion = prudence                          

compunction = remorse (regret)                      amiable = friendly

cajole = coax (wheedle ? sweet talk)                incentive = provocation

Embrace = hug (hold-cuddle)                           latent = potential

Confiscate = appropriate (to take charge)          emancipate = liberate                           

lament = mourn                                              confiscate = appropriate

obstinate = stubborn                                       acumen = exactness

metamorphosis = transform                             scrutiny = close examination

annihilate = to destroy                                     fuse = combine

whet = sharpen                                               behest = request                                  

adage = proverb                                              penitence = to repeat

ACCENTURE INTERVIEW - 12 MAR 2008

Accenture visited our campus on 12th March. all students who were already placed were also allowed to sit in accenture. So around 500 students participated in the process out of them only 196 were able to clear the written. Among these 196, about 110 got selected in gd. she asked us to decide a topic on our own and we decided capital punishment.justified or not. u can see the paper pattern (which is conducted by meritrac) from some other contributers, i will tell u abt my interview.

First it was a HR round for me. Since I was having many gaps.it was like.
HR: good afternoon Vipin.
ME: good afternoon mam.
HR: ok Vipin tell me something abut you. me-told
HR: why r u having these many gaps?
me- answered by which she was impressed (they dont like persons who have the gap bcoj they were preparing to get into IITs).
HR: ok what do u know abt Accenture?
me- mam i know many things abt accenture like who is the ceo, in how many countries the company is located, how many clients th company has and all those statistics kind of stuff. always surf net to fin out new things.
HR: So whats new... all these things were told to u during presentation and each one who is standing outside knows these things.
me- mam but during the initial phase of the presentation...when sir displayed all the figures on the slide and he asked does anybody know what do these figures represents, I gave 3 answers... (she was highly impressed)
HR: ok why as a mechanical engg. do u want to join Accenture?
me- gave the answer with the eg of designing of lift... each stream has its own part in the successful completion of a job and mech engg have good analytical power and they find there place everywhere. (impressed and satisfied)
HR: ok. Vipin are u comfortable to relocate?
me- yes mam... since it is my hobby to travel and explore new places I have no problem in relocation
HR: ok Vipin do u have any questions to ask?
me- mam since i know many things abt Accenture, i will not ask u abt it but please tell me whether u liked any thing in my cv or in me which was not there in others.
HR: but i didn't tell u till now whether u r selected or not.. (impressed with que)
me- than mam if i am selected what was my good point and if i am not, where i was lacking..
HR: one thing i liked abt u is that u r not faking urself... u r present as u are in real.. any more ques?
me- no mam.
HR: ok vipin it was nice meeting u.
me- thank u mam..

General - Interview 12 March 2008 

Accenture visited our campus on 12th march. all students who were already placed were also allowed to sit in accenture.so around 500 students participated in the process out of them only 196 were able to clear the written. among these 196, about 110 got selected in gd. she asked us to decide a topic on our own and we decided capital punishment........justified or not... u can see the paper pattern (which is conducted by meritrac) from some other contributers, i will tell u abt my interview.  

first it was a HR round for me.since i was having many gaps....it was like..........
HR: good afternoon vipin.
ME: good afternoon mam.
HR: ok vipin tell me something abut you.
me-told
HR: why r u having these many gaps?
me- answered by which she was impressed(they dont like persons who have the gap bcoj they were preparing to get into iits).
HR: ok what do u know abt accenture?
me- mam i know many things abt accenture like who is the ceo, in how many countries the company is located,how many clients th company has and all those statistics kind of stuff.........always surf net to fin out new things........
HR: so whats new........all these thingswere told to u during presentation and each one who is standing outside knows these things.
me- mam but during the initial phase of the presentation...when sir displayed all the figures on the slide and he asked does anybody know what do these figures represents, i gave 3 answers......(she was highly impressed)
HR: ok why as a mechanical engg. do u want to join accenture?
me- gave the answer with the eg of designing of lift.....each stream has its own part in the succesful completion of a job and mech engg have good analytical power and they find there place everywhere......(impressed and satisfied)
HR: ok. vipin dre u comfortable to relocate?
me- yes mam......since it is my hobby to travel and explore new places.......i have no problem in relocation(by this one of the hobby which was mentioned in the cv was substantiated)
HR: ok vipin........do u have any questions to ask........
me-  mam since i know many things abt accenture, i will not ask u abt it........but please tell me whether u liked any thing in my cv or in me which was not there in others......
HR: but i didn't told u till now whether u r selected or not..........(impressed with que)
me- than mam if i am selected what was my good point and if i am not ,where i was lacking.......
HR: one thing i liked abt u is that u r not faking urself............u r present as u are in real...........any more ques?
me- no mam.
HR: ok vipin it was nice meeting u.
me- thank u mam......... 

ACCENTURE PAPER ON 5TH APRIL AT IICMR,PUNE 

Hi, This is Swapnil Kanade from Dr. D. Y. Patil Institute of Management & Research, Pimpri. I was selected in Accenture on 5th April, 2008. Here are the details:
Location of Test: IICMR, Nigdi, Pune.
Selection Process: 
1. Aptitude test of 55 questions having 55 marks. Date: 29th March 2008.
2. Group Discussion and HR & Technical Interviews. Date: 5th April 2008.

Candidates from MCA and Engineering Colleges around Maharashtra were invited for Campus selection. 

The aptitude was conducted by MeritTrack for Accenture. It contained English section, Mathematical Aptitude and Reasoning section. A key to solving these is to download and solve previous question papers from Freshers’ world. The questions are easy. Just solve them fast as the time is just 60 minutes.
After those sixty minutes, 5 minutes are given for writing an essay. This will be evaluated in the interviews. Our topic was “Artificial Intelligence.” I finished the test in 50 minutes and utilized the remaining 10 minutes for thinking on the topic. Do not start writing essay unless you are told to do so. In fact, we were given only 3-3.5 minutes. You should write the full page for the essay.
The results of aptitude are conveyed to your TPO. Out of 36 students of our college, 11 were selected for GD’s. The overall selections at this stage were 211.
The next rounds were held at the same place one week later, on 5th April. It started at 9.20 a.m. We were given a PPT on Accenture. Listen to the PPT carefully. Remember the motto of Accenture: High Performance. Delivered.

After the PPT, we were divided into groups of 12-14 each and taken to GD halls. 
My group’s topic was “Do ends justify means?” The GD conductor talks to you before the GD and explains the criteria etc. Please make sure you have great command over English and you do speak up at least a couple of times. Listening is more important and I was successful in leading the overall GD. I listened to others carefully. So guys were mostly addressing me. I also made sure that no one dominated and gave some ladies chance to put their views. This ability of handling your team is very important. 
Other GD topics were “Evolution of Education System in India from 1990 onwards,” and “Globalization”.

111 candidates were selected for Interview round. From our college, 4 made it to next round.
We were then given some forms where you fill in your information, location preferences etc. Then one-by-one, we were called for interviews. I had to wait a lot as my turn came only at 3:30 p.m. The HR and Technical Interviews were conducted by two persons simultaneously in different halls. (Pipelining!) Those who would pass one kind of interview would then be sent for the other. I was first sent for HR.
HR Interview:
I first tapped the door gently and opened it, asking for the permission to come in. After getting it, I got in and walked upto the table and greeted the HR, who was a sober man in his 30’s. He looked very serious, but was in fact were kind. I sat on the chair only after being told to do so. He had my resume and copies of certificates with him which he was reading. After a while, he fired the first salvo at me by asking me to introduce myself. The questions were as follows:
1.Tell me something about yourself.
I talked about myself and my strengths and weaknesses, my objective etc. Make sure your introduction lasts no more than 1-1.5 minutes.
2.How can you prove that you are creative?
This question came as I had said that I had quoted ‘creativity’ as my strength. I gave the example of my pencil shading hobby.
3.Give me an example of your perfectionist attitude.
I said that I work on my paintings and portraits for several drafts unless I am satisfied with them.
4.Do you have any of your sketches with you now
5.I said, “Sorry, I don’t.”
6.Tell me about your family background.
I stressed on the loving bond we share in our family. Try to say something about all your family members.
7.Can you tell me a situation where your suggestion/creativity helped your team achieve some innovation
I gave example of our 3rd semester project.
8.And a situation where your team failed in achieving its objective because of your mistake?
“I am a trekker. We have a trekking club in our town. Once we had arranged a trek to one fort called Bhairavgad. It was quite difficult ascent and I was required to go first and tie rope for the others. Unfortunately I could not climb the point with steep ascent and we had to abandon the trek altogether. But the very next week, we again went there and this time we made it to the top.”
9.Who is your idol
I said, “Sachin Tendulkar. As he is a high performer and still keeps his feet firmly on ground. I wish to perform like him and still maintain my humility.”
10.But when Sachin scores a century, our team looses, right?
“It is a team effort and everyone has to contribute his best. And the team leader has to make sure they do.”
11.How did you come to know about Accenture
“From one of our seniors who was placed in Accenture a couple of years ago. I was very much impressed with the global look of Accenture that he described.”
12.What do you mean by Global look?
“It is the global presence. This gives Accenture the great mix of different cultures and I like to interact with people from diverse backgrounds. That’s one of my strengths. I will get an opportunity to explore the same at Accenture. Hence I really admire it.”
13.Which company do you admire the most other than Accenture?
“I like Infosys.”
14.Why?
“It has done very well as a Corporate Citizen. I especially was impressed with their ‘Infosys Foundation’ headed by Mrs. Sudha Murthy. I have read her books like ‘Wise and Otherwise’. The foundation has been doing a lot of social work and philanthropy in various remote parts of the country. This suits my nature of helping others in achieving their goals. Hence I admire Infosys very much.”
15.Have you appeared for any other company’s test before?
“Yes, KPIT.”

The interview lasted for 20 minutes. I wished the HR a good day and came out. After 5 minutes I was told that I cleared the HR.

Technical Interview:
The next round was Technical interview. After half an hour, my turn came. The interviewer was a lady in her mid-forties. She was very cultured, soft-spoken and refined.
She was a HR and most of the questions she asked were of HR type. It went somewhat like this:
1.You said that your idol is Sachin Tendulkar, right? Why?
“That’s because he is a high achiever and perfectionist. He can deliver high performance time to time and in spite of the reverence he gets from the world, he is so down-to-earth. I wish my success doesn’t go to my head at any stage of my life.”
2.Tell me something about your family.
This question was a repeat. I gave similar answer.
3.Why was your score so less in 12th standard?
I explained the reasons.
4.You have done B. A.?
I said, “Yes.”
5.What was your major?
“Political Science.”
6.Why did you choose Political Science?
“It is the enveloping subject for all other subjects of the world, as it creates the framework within which other subjects like economics and even science and technology evolve. It gives you the opportunity to study the diverse cultures and political setups of different countries. This enables me to understand the socio-cultural mindsets of their people. This in turn helps me in effectively interacting with them.”
7.Then why did you not go for IAS?
“In fact, I had started preparing for Civil Services Examination. I wanted to go in the Indian Foreign Service. But later I realized that I won’t get the kind of freedom and power to push forward my vision and opinions or aggressive strategies. I also had a liking for technology, so I chose MCA after B. A.”
8.Why do you love technology?
“I am a creative person. Just like canvas, brushes and color palette are tools for creativity in arts, technology is the tool for expressing your creativity. Besides, I also love working with machines.”
9.How did you develop interest in technology?
“When I first learnt C, I was very much impressed with its power of making the machines work for you, according to your wishes. That fetched
me closer to technology.”
10.You said that you want to go into Systems Programming, right?
Actually I had not said so. But still I answered affirmatively. “Yah, Systems Programming is domain that puts high demands on you for utmost creativity, supreme command over languages and thorough understanding of the architectures and other details. So, one who has a liking for details will surely succeed in that.”
11.And then what about Application Programming?
“I like Application Programming also as it involves interacting with people. You have to understand their needs and preferences. The interfaces have to be user-friendly. So, if one can understand the preferences and psychology of people, one can really develop successful applications. The study of different cultural setups helps in this stuff. Hence I can do equally well in this area also.”
12.What are your strengths?
“My ability of communication, soft skills, my creativity and my technical knowledge are some of my strengths. I can work well in teams and can lead them also.”
13.Can you write a C program for 2X3 & 3X1 matrix multiplication?
I wrote the program. She asked me to explain the logic of the program. She also asked me why the order of the matrices is important. I explained.
14.111 candidates have been short-listed from GD for interviews. What’s in you that sets you apart from others?
“My USP is my communication skills and my ability of interacting with people from diverse backgrounds. This will help me in dealing with our clients and I am particularly eager to work in Accenture as it has people from all over the globe. I am really excited at the prospect of working with the company having global look.”
15.Can you give me an example of how you can communicate across cultural backgrounds?
“Well, I have a zeal for talking to people especially from backgrounds of other than mine. For example, I have a vast network of friends, most of whom are from different states, even from different countries, speaking different languages. I can interact with them because of my observing, analyzing and empathizing skills. My cross-domain experience and knowledge helps me a lot. I am sure I will have similar success with Accenture as well.”
16.Why should I select you?
“Accenture will select me only if it thinks and is satisfied that I am the right candidate for the job. Let’s think from Accenture’s perspective. What it will look for in a candidate is the soft skills, strong domain knowledge, communication skills, ability of working in teams, leadership qualities, global viewpoint, creativity, and so on. And I think I have it all in me.”
Here I again stressed on soft skills.
17.Where do you see yourself after three years from now?
I gave a diplomatic answer to this question. I said, “I don’t know exactly how fast careers grow in Accenture, but generally speaking I see myself as at least a System Analyst. Not three years as such, but say, five years.”
18.Any other company you appeared for before? What was the result?
“I had appeared in KPIT aptitude test on the very next day after the aptitude of Accenture. But I could not clear the test.”

ACCENTURE Interview 20 July 2007 

Total Test Paper : 20th July 2007 @ F/O Engg. & Tech. Jamia Millia Islamia

Well on 20th July 2007 Accenture visited our college for campus placement..... As before the test i did lots of search work to get an idea for exam, i hope my experience will be useful for you all my friends.... I am a student of F/O Engg. & Tech. Jamia Millia Islamia I and I belong to Electrical branch.

Here is the selection procedure....
I. Written Test 60 Mins.
II. GD 10-15 Mins.
III. 1st HR 10-15 Mins /depends.
IV. 2nd HR 30-40 Mins /depends.

Total students appear for Written =round about 250
Written test cleared by =96
GD cleared = 52
1st HR = around 35
2nd Hr = 28
finally selected = 28
This was the whole format of exam... Preparation for test:

( I ) WRITTEN TEST
Written Test Consist of 55 question to be answer in 1 Hrs. & a short ESSAY on a given topic. Students were selected on the merit basis. I’ll say the test was very easy... If u have gone through R.S aggarwa, both verbal, nonverbal and quantitative... then its really very easy to crack the test...

Written Test consist of Three Section:
1) Verbal 20 Questions
2) Aptitude 20 Questions
3) Analytical 15 Questions

1.VERBAL
This section consisted of simple English question, Just read with concentration and u will get the answer soon though the options sometimes confuse but don't worry...
4-5 Ques. are like fill in blanks type, 3 ques. includes synonyms... There are sentences in which one word is in italics and u have to choose the right option for synonyms or antonyms.
2-3 ques. on Articles like:__ essay, which was later chosen as __ best, was written by __ student who used to be quiet in the class.
Ans: The, the, the
(These type of questions were quite easy and there were 1-2 questions that had only 1 blank as well). Then there were two passages given.1st one was very easy. Direct answers were given in passage. U need not to read the whole passage. just read the ques. 1st and then answer it.
2nd one was quite tuff. But never mind each one felt the same…

2.APTITUDE
Prepare from R.S .Agarwal Quantitative aptitude book. Important topics: Venn diagram based problems, data sufficiency problems, directions, relations etc. Quite easy section simple ques. based on venn diagrams like:
1. there are 200 students in a class. 100 speak hindi. 150 speak english.how many speak both hindi and english.
Ans:: There is a particular way of solving such ques.U can do it using venn diagrams very easily. Here adding 100 and 150 and then subtracting 200, We will get the common students..
i.e 100+150- 200 =50 is the ans
There were many questions of this type and very very easy to do..Some ques. based on blood relations; Some based on direction sensing; Some based on comparison....
One ques. i remember like.....* = +, + = -, - = / and / = *. then solve the equation 3*5-12+10-9/3 something like this...

One more ques. If 1 is written as $, and 0 is written as *. Then answer the following:
Its a binary to Decimal convention ques. U need to practice in converting 8 bit binary no. into decimal very quickly.
(e.g. 4 is written as $** and 3 is written as $$)
There were almost 5-6 ques. of such type and I'll say they were really easy.....

3.ANALYTICAL
Analytical is very easy and will save your maximum time.... Ques are like..

1.Mark the answers according to the following:
A- If all the three options match
B- If FIRST and SECOND options match
C- If FIRST and THIRD options match
D- If none of the three match

KKTUJNGDFTSR KKTUJHGDFTSR KKTUJNGDFTSR
Ans: C
2.Another example:
1896.5738491023 1896.5783491023 1896.5738461023
Ans: D

And there were ques which i don't remember right now.....Important things to be remembered: Most of the questions were easy; all you need is time management and accuracy.Try to attempt the paper in two passes.
In the first pass, solve the ques. U are able to and leave others for the last mins. Then start the paper again to do the remaining questions. Doing this you may find that you have attempted 35-38 questions in half the time (in 30-33 mins).
So don’t feel low because paper is very easy!!! And paper get repeated....
after the test was over they gave us an essay topic which was

"CARRIER IN ACCENTURE"

After this procedure we all went to the Auditorium for the presentation by panel.( presentation was very interesting as their were 2-3 video in that... and it is very important as for the interview's point.)
Results were announced after presentation..
.I cleared the test and got my name in 2nd group for GD... 
Cutoff was high because test was easy...

(II) GROUP DISCUSSION
96 students cleared the test and were divided into 8 batches for GD. Each batch had 12 students in it...Mine was the second batch..
As i heard that the GD is the main elimination round in ACCENTURE

so i was quite scared and was very nervous coz its mine very first GD. In my batch 7 were selected and rejected were those who didn’t say anything in the discussion. Mainly current affairs were discussed like:
About the blue line buses in delhi, foreign coach for india or not, privatization should be allowed in india or not??? GD should be their or not in selection procedure, etc, etc,.Where as mine topic was:

Should advertising be ban for indian cricketers or not, Bingooo i love to talk about cricket and cricketers, I initiate the GD, coz some one told me that "Hashim koi bhi Topic ho, kaisa bhi Topic ho, initial tum hi karna..."And i did the same.... That was my first GD and i was behaving like, i m the master of GD... (Don't remain dumb. Just say something even if u think u r wrong. But do SPEAK. DON'T REMAIN SILENT THERE..,)

When GD was over, Jyotika Mam askd me to give the conclusion. And when i heard my name for conclusion i was sure that I’ll clear the this round. After GDs were over about 50 were selected for the first HR interview round.

My Interviews:
I had to give two interviews first HR, and second HR cum technical.

(III) 1st HR Interview
My HR was as under..... He was a gentle man named VIRAT. Well 1st HR was very simple as they were asking only few ques like....

Q::1. Tell me about your family background.
A::1. My father name is Mohd.Aslam, he is a business man, my mother name is Zuleikha Begum, she is a house wife and so on....
Q::2. How much you know in computer??(Computer Proficiency)
A::2. Well i know operating systems : Win 98/XP/Vista, Ms-Dos, software like photoshop, coreldraw, pagemaker, flash, dreamweaver, MS Office, video editing, photo mixing, Languages like C, C++.

Then he said, "You know only basis of these softwares or you have good command on these." And i said, "Sir i can design any thing and can perform any task related with these software.

Q::3. Why Accenture?
A::3. (I was well prepared for this ques. too. Because my branch is electrical and i was in front of Accenture panel)

I said, "When i born, i was not an electrical engineer. From the beginning i am learning day by day, first my mother taught me, then my class teacher, my professors and still i am learning. If I'll get selected in Accenture then its a challenge for me to do some thing new and i would love to accept this challenge....As i know carrier in Accenture means a lot...

It will give me very good beginning...Not just the post but also other things like stability, security and learning...(In my mind i was thinking its enough for his satisfaction) and last but not the least...

Q::4. If you have any ques then you can ask...
A::4. I asked him about the job profile and the latest project on which Accenture is working now adays. He told me about the job profile as well as about he the latest projects.

Then i said, " Sir can i ask one more ques.?" He said, "ya sure!" And i asked him a ques. related to myself.
He answered me very well...I said, "ok that’s all i want to know thank you sir." Before leaving the room i offered him to shake hand.
While shaking He said, "Congratulation HASHIM!!! You are selected for the 2nd HR interview." I said, "Thank you so much sir"

(IV) 2nd HR cum technical Interview
This round is very easy to cleared because there are very few eliminations in this round. Really very few…In our case only 7 were rejected after this round.
Few questions were same as before but this time interviewer was really very very very very cool named RENU METTHEW.
He asked me to take my seat, and then.....

Q::1. Tell me about your self.
A::1. I am Mohammad.Hashim Raza, i have done my schooling from my hometown Orai. After completing my 10 & 12 i shifted to Kanpur where i prepared for entrance exams. I got 202 rank in UPTU, I got selected in AIEEE and JMI. And finally took admission in Jamia Millia Islamia. Right now i m in B.Tech(Elec.)final year. (Then i told him about my parents, about my friends.) My hobbies are sketching, playing snooker...
Then he interrupt me and asked me to sketch something for him... And with in 1 min i sketch one cool 7Up character.
(That was really good sketch)

Q::2. Who is your role model?
A::2. (I was not prepared for this one actually) I said, " My Grand Father"
He said," Grand father? Why so, how you relate yourself to your grand father" I said, " My grand father used to manufacture fireworks, and he didn't took any kind of training. He used to work in a workshop at the age of 10. And he learn how to make and manufacture just by seeing. Then i told him about my skills. (Computer Proficiency) I said, “Sir i know these software and i can do any task related to these software. And i have learned all these by myself. Just by seeing.

Q::3. What is Encapsulation, Polymorphism, Abstraction, Inheritance some basics definations...
A::3. I was all prepared of them with examples... And i defined them as good as i can.
Q::4. Your computer knowledge is good, what about yours branch subject?
A::4. I said, " Sir you can ask any thing related with Machine, Power system,

Measurement, Drives, or any subject from my branch. But my favorite subject is power system. ( In my mind i was thinking that, its too much Hashim. Tumhe sirf ek subject hi bolna chaiye tha)But that was mine day...
He didn't ask any question from my subject, and said, " Ooh, it mean you are also good in your core subjects too" And i replied, "Yaw, actually i grasp each and every thing what ever my teacher taught me. As i m a good learner, i love to learn new things and to implement them.

Q::5. What do you do i your free time?
A::5. Designing in computer.
Q::6. What types of designing?
A::6. Sir i am a member of Designing and Publication Community of CSI, and also one of the designer for the annual magazine of my college. Recently i have designed the cover page of Fiction'07.
Q::7. Have you ever done any thing in a team?
A::7. Recently i have done my minor project in a team of 4 members.
Q::8. Tell me about you project.
A::8. I explained my project very well. Its on "Object Oriented Load Flow Methodology"
Q::9. For job prefrence location, you have selected Delhi. Why? Is their any problem in relocating?
A::9. I have to tick on any one thats why i have selected delhi, but i can go anywhere you shift me, and i have a passport, so i can go abroad also.

Then he asked me two very very interesting questions.......
Q::10. At the time of presentation, i saw you were sleeping their in the Audi... Why?
A::10. Sir actually i had a viral fewer last night, and today morning i have to come here for the placement. After the written test i was a bit tired and thats i was relaxing in the Audi, but i have noted each and every important point about the company and when you were telling about the compensation and package i was sleeping.
Then he laughed and said, “That’s strange, like other students were waiting for those slides and you were sleeping at that time. And i replied, " Money i not every thing for my, but a big company's name does matter for me. If i got placed then I'll do my best for your company with all my technical skills.
Last but not the least......

Q::11. I have noticed one thing, you were using hair band at the time of presentation. So can i say that you are the coolest dude of this college?
A::11. Yaw you can say that, but the reason behind that hair band was something else...I had been facing some allergic pimples over my forehead so i had, had put up some antiseptic cream at that time.

Then he said, " But it suits on you, you were looking cool.
Thank you HASHIM!!!

